[ vv - e -

[.2

Anrns

J  Anc'={x$

o oAuc 2ix gz}
< A U(Gn C)=i X.q. %, V}
4 @nc)= §wiviz}

a) Au.c={":‘1‘?~v}
L) AnB = {9}

9 avg= {xuq,2.vw |
4) onc ={vy}

) T

6 T
9 F

) T
) F
6y T
< '~




" No.

bate 2

’jé/om

A’nS /?’CQfW)

Q) AnsnC

L) Ang’ne’

‘) (AAB),/\C

a) A‘ngncC

b (3 nanc’)U (¢ nA'NnG’)
<) (Avsue) v (B8nc)
) T

T

c) F

) F

b F

C\ T Ta ‘:ﬂ.d' f\)nﬂl = (AuB.\’
a) F

e) F

) T gang (ﬁnﬁ)l"' Alus




No. 1» 2

| Date g
Pe—~ Lems Ans Reas om
Lo ) F
b} F
<) F
d) T
e) T
WW
"ls L [00]
60—-26—30 =5
(WA 30 .
) @ 30
3 e

Erimes

alu)= nla)+ nin’)
= 25 + 40
= (5

n(gi= nlu)—n(p’)
Z ¢S — 30
= 25
A {avun) = n(A +n(8)
= ¢ + 35

= 0




No. [.2

Date 4

P lem Ans Reqson
[ 4 120 A()(,.yuz) = nlx) aly) n(za)
Alx)alg)= 24 = 3rxQ
Alq)a(®)= 0= $x¥
n(x)n(e) =15 = 355
ACx)ZA[‘flta(?)mf ' s n @
/\Ln) anldylnlz] = %xS'ﬂ?
= (20
15 ) N
b) Y
<l N
a) Y AUG = {a.b.c‘z..sf Cna':{i}
h
|6 (:A) MX(C)
R lw Lv
T NS SN O I
v 3w 3V
la
Ax{";’ atdd
LW
(€ an(Pi=z25 n("b)=54(/’/)

nlr)=2n(P)

40 = a(B) + nip) += (P3)
=all)esnlt) 2a(P)
= %alr)

alpg= 90/3 =5

n(pi= 5226




No. [ R

‘ Date S‘
P\gg lem AnS R cason
&) ;\(AXB)= {LO /\/A')-“S /’I(B):z
LY n(Bxsx8]=2 n (Axa)= nla) a (8]
= §xZ
= QO

r\(Bxszrs) =n(8)n(8)n(a)

Z1

:L’L

7%

27

= 2 %L »®2
= ¥
(<) s Tree A +d, 554 o
n(a) 21, ala)2l
(5
n(c)=45
alCl= 16-35 -9y + 2%
z (29—
=z 4G
df wags l[‘D select R o n(ﬂ)ﬂf
Q waqys ks /UM 8 v mCQ’)zS

AXBEC oned BxBx8 h <

§x(gx2ZO

N m&cf

= [([0x{0 %10

4 e Lements




l.Z

No.
Date G
broblem Fns Reuson
25 alx)=1% X Xa %3
n(x) =1 39 % r 39 rey
n (¥ =6 137 ¥ i
33 “1% rar
221 9r9 rye
39 oy
4r Yyrr
¥r
T4
1940
26
\
n(c’)=+/

1L0—-L60=20

20 4+ 35X + Y¥~18+X

Z 35+94-9

= F9-1 = 3/




[, 2
No.
. ] Date ?
/’Qé/@m Ans Reas om
a+ a(x,) =19 A[X/}=2“{x?-)
A(wl= 5 n(y7)=5n(>h)
alxsl=25 46 = al%) tal xz2) +nlks)
= 2alXel #nf ) F 5«()@/
= ?A[Xa/
alx)=5
ACX,):: Lx‘;"'/O
n()(g):' ngzzg
28 | a(w)=5 a(¥e)= 24 ()
A ()= 3a(wd= 3w x n(X)
= @ ()
-45’: A,(x,)-l— a (¥e) ol ¥s)
= 2 (}q,} + LVI(N/’ + oA (,(7,}
= ?n‘)ﬂ/}
nly)= ¥5/7 =5
29 n(%)=(6

DRAREE

Wft/( Q:q[)ﬂq]

X, Yo  Xs o

a +avactarita+ Ya

- q ( V44t 4/4/'14—4)

z (§ a

azeYsy =4
n(y/):‘lol z ¢ v =(C




No.
Date X
Prja”om Ans Rens o
30 Tree Axe:{(qm): a4 €A “’”"é&/jj
‘l/a,e/b a evay mey Ai, le
VoeB, bu ewty may 6, 62
* n (0)= 25 Wats a= 'ACA)

* 3 Y4 Feto] Fo

4 3 C 0 E
100 = a+3at{atrta—cot T&
Lo = L2z e
Q= L(O/’LL L = L 6*

Fa—lo = 35-to = 28




